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And for any other positive integer n Is
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either il n 8N 175 0 and NESN 17 to
n 3 sort 5 and n is any real

in 3 and 5 are two of the solutions
or ii M2 5N 17 1

N2_5N 16 0 N 3 Cor 3

i the solution set is 2,35J
Sum of all solutions 2 3 5 10
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This is a natural number if n 3 1,2 4,5 10,20



I n 4 5,718,13 23

i NCA 6

101 n is a perfect square if either nis even

or n is a perfect square
I N 2,4 6 2020 or
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NCA 10101 22 1032
i sumof the digits of neat 6
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y 20 so not possible
casecii if u 30 Yeo

then 2x 11 8 and n 2y 14
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i n 14 so not possible
i if u E y c 0

then y 8 so not possible
i the solution is se G and y 4
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since LHS is an integer RHS must be
integer

i n 2,7 12,17 only setisify
i required 2 7 12 17

38

141 Both a and b should be of the form
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r we need five colours
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2 a 26 a I
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181 if f I then f a atfdsd.iso 3o3 Lg
M 34 n 103
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i 142 i Yz ith i Ys Itf l Ygg



it Yz i1431 Citygg l Yz i Yz G Ygg
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Adding and we get
a d 19 Il I3 IT

i 1a dl 9 I 3 5

required 9 7 3 5 18

221 Median of 1 2 3,4 is 2231 5 2

i minimum IE il 1 2 21 1 E 3 1 52 41
3
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2 4

23 Cates if U y then 3N129 16
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i we can't take this solution
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2kt 5y 5

n N 20 y 9
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251 The smallest natural number n that

satisfies given conditions is n 5

Now L C M 5 6 7 210

required numbers are 5 5 210 5 212101

number of such numbers less than Corlequal
to 2020 is 10



261 Let fin In 21 1 n 41 In 61 In 8 1 101 In 121
The minimum value of ferry exists at the
median of 2,4 6,8 10,12 And the minimum
value is 18 As there are two middle
Values 6 and 8 fin 18 HUE 6,8

i 9 6 b 8
Atb 74

271 n Il 71199 11 2 31 98 991

11 1 199 live 133 14 151 98 99

71 1118 147 151 761 98 991
11 116 151 161 981 991
99 98 97 96 16 15 6

99 981 197 96 1 17 16 9
42 9
51

281 Given En Cy 2g y y g y

Z y 23 2
3 2

3 Z n 3 n

Since LHS of and are all integers
y zJ n's Ys



n Cy I

2 y 2 I

3 z n 1

Solving these equations we get CnJ 2 y3 Cz 4
N 7 3 y 4 3 2 4 3

sexy 12 5

29 Iq 2232 ly 2O202
I 3 24 3 5 2019712021

z.io zooEf

p 4040 9 2021

pxq 6061

i sum of the digits in p q is 13

307 Let n p2 and n 1200 92 where p.ge N
q2 p2 2o0

gtp q 17 200

cq p q 17 2352
since q 1ps 9 P we have the following

possibilities
i 9 10 200 and q P 4 not possible
ii 9 10 100 and q P 2 9,177 151,49
iii 9 10 50 and q 10 4 qp 27,23



iv q 110 25 and q 10 8 not possible
v q 110 40 and q 17 5 not possible
vi q p 20 and 9 10 10 9,101 45,5

P 49 23,5
i n 2401,529 25




